0.2

0.2

o IR : : o
V51| SERRRS ¥ (5 ENRY [RPRE -5 BOF | ERRRE SRR | SERRR S T R e
E L - - s \ 5
— I ) O e e [ R . N Y
0.15|# ik : 0.1¢ ARIEEE :
o . . o : -+ . .
0.05F R R R R | SR PR 0.05F -+ e e
F b N . F . . .
- Py . o : H L
(0] L 5 SR N ERRRR REEEEEEEEEE (0] SuRREEEREEEE (X £ & N ERER B BRRR o R R R R R R
: 4 :
=0.08F | A At S e N I { R Sl O] EESE SRR
- T 1 -
—0.AF e B IR )| TSRO R SRR SRR ] EEE R
L 7T o %
~0.15F [ +eei A ~0.15F -+ o S B S LESE RRRTIRLS
- b +| &+ T o +
- ¥ . L .
_02_ 1 M| 1 L ahn] AE 1 EEERTIT _042; 1 ] 1 | 1 v EEERTIT
1.'2-_ * AF -+ s H + + :
[ 184+ B R e T T
o T+ -1 -+
]__—0- ~11+ 1 T 1 1 -
r + T 0.9 S o B B S R R
08 -FtHF - 1fH - HAF A (- e oo
AN - 08

10 10? 10° 107t 1 10 10? 10°

=

o
iN

=

—=— DQM_TT__mkFit-DQM_original
—e— DQM_TT__mkFit-DQM_modified5

100r T ; ; 100

...............................................

i 4

_100:' " R

107 1 10 10? 10° 107 1 10 10? 10°

L
o AN R R

107 1 10 107 10°



	Contents
	Page 1


